x
=
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>
[2
02

Al A

A SXEHL
A HH2IAY(SXEZHL)
o9l JI=3t] (Cre[: &)
2A -3 - A(3) - MRAKY - BES Oil &bl &E& HlwsZ
SXIE 19,441,819 18,427,174 1,014,645
= 11,612,152
= 641,161
= 2,074,883
= 5,113,623
Y2 ZH(SXE ) 34,690 36,180 21,490
J|2&| 34,690 36,180 21,490
Jl2&| 34,690 36,180 21,490
201 L2 ZH| 23,050 23,940 A8
01 AtSR2teld| 15,050 14,940 110
Ogt==ZH| 11,000
0DI2ANRES 100, 0002I% 150! 1,500
OAIRI1DI & SAESE 8,000,000 8,000
0J|Et==E4| 1,500,000 1,500
OSaI(SXFAY J2F7)
9,00024%1501x304! 4,050
02 232ZH| 8,000 9,000 A1,000
oRERZ S 8,000,000 8,000
202 4H| 8,640 8,640
01 =LHOHI 8,640 8,640
Ozl (SS&Hl)
180,000 *4S S+ 128 8,640
203 PRF&H| 3,000 3,600 A600
04 EN2YLRFA 3,000 3,600 2600
ORMSYHRFEI| 250,000 %128 3,000
FOIXRI D18t 25t 521,525 714,162 A192,637
= 75,000
= 446,525
s 29 136,050 343,834 AN207,784
= 75,000
= 61,050
S22 249 18,600 17,200 1,400
201 L2 3H| 3,600 3,200 400
01 At22t2ltl 3,600 3,200 400
OSAB(SRDIELRFR)
9,000&*521x804] 3,600
202 4H| 12,000 12,000
01 =LHOHI 12,000 12,000
(OEINPIE=EE=
200,0002%501% 128 12,000
203 PRF&H| 3,000 2,000 1,000
03 AIZFRHRZ=AIH| 3,000 2,000 1,000
O=SXIAMHIA HRFX 3,000,000 3,000
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SA: SXEE
M =QIXX| D1k A3t
&2l =XD|1= 29 CEREE)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
INEENEEEE S 2,000 2,000
201 B2 AEH| 2,000 2,000
01 AFR2t2IH] 2,000 2,000
OARISAEE3RY Agds & A5us
] 2,000,000 2,000
=0l & ekt XA 450 3,600 A3,150
301 LBtEES 450 3,600 A3,150
02 AFRIS2EXHIS(FAAS, NLHH) 450 3,600 3,150
O#eiXt S =8Hl & 2Itod|
30,000&*152] 450
Mol+=21= 65,000 69,100 A4,100
< 65,000
201 L= EH| 4,000 3,500 500
< 4,000
01 AFR2r2H 4,000 3,500 500
OREY Mo+ W=
1,000,000& 1,000
< 1,000
Olliol+~s =25+ 3,000,000 3,000
< 3,000
302 OI=H Mol 24 = 57,000 63,600 26,600
< 57,000
02 eIzl =as2as 57,000 63,600 26,600
OO0l 73 H| 57,000,0002 57,000
< 57,000
401 AlEHIL S 0HY] 4,000 2,000 2,000
< 4,000
01 Al&H| 4,000 2,000 2,000
OSAIFAHAIE & TS SA E2t&D
2te| 4,000,000 4,000
< 4,000
ARISXE2HH 28 K& 50,000 50,000 0
< 10,000
= 40,000
307 212t01& 50,000 50,000 0
< 10,000
= 40,000
11 A2 XA E X 50,000 50,000 0
OABI=SXHBHE 29 X2
50,000,000& 50,000
< 10,000
= 40,000
FooIEBAIE 2 IRNRLE2SE 385,475 370,328 15,147
S22 385,475 340,328 45,147
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M IIZHZENEES 83,475 78,724 4,751
OSAIS, SHP =312 212 64.814
I 80,2402 *201%300 48,144
(ESVE= 80, 24021 *201%522 8,345
0L Rp4=gt 80,2402 *201x 112 1,766
0201013 29,127, 12024%201%4 . 5% 2,622
0AAUEE 29,127, 12024%201%3 . 545% 2,066
0L 0IR) | RS
1,032,5602+201%12. 95% 268
UnE=dsl=: 29,127, 12024%201%1 . 75% 1,020
O THE S 29,127, 12024%201%1% 583
OXEHER 5|2 ==2er2e) 18,661
I 80,2402*101% 180 14,444
O=xt=g 80,2402 %101x24 1,926
0L Rp4-gt 80,2402 % 101x52 402
020143 16,770, 1602% 1Q1x4 5% 755
0H2ABE 16,770, 1602 *101%3. 545% 5%
0L 0IR) | R U E
54,5102 %101%12.95% 7
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AN E 16,770, 1602 *101%1% 168
201 LB 138,000 115,400 22,600
01 At222[H] 42,000 17,000 25,000
OYUBFSSH|(ALH M|, R014H| S 8% &
&) 350, 0002% 1074 Ax 122 42,000
02 222 96,000 98,400 A2,400
0333 800,000 1% 10I4 Ax 122 96,000
401 AZHI 220 150,000 135,204 14,7%
01 Al&HI 150,000 135,204 14,7%
OARE Z=0I0|ZAIE SXI1HR
1,500,000 % 1074 A 15,000
OEHEXF|Z AL
90,000,000 90,000
OMH| 2B =R 3l AldB 2
45,000,000& 45,000
405 KHAHF S 14,000 11,000 3,000
01 I EEFEH] 14,000 11,000 3,000
OEHEXFZ K12 2
6,000,000 6,000
OZNHE=XE2 HIZE 2
8,000,000 8,000
2)p BE zel ¢ X 2,247,956 2,121,420 126,536
= 447,660
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2A:
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2010 ZMEBT(FEHS0)

o9l HAS FA=IIXN (Srol: 721
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
Has F=HEXXH 1,565,921 1,407,500 168,421
= 1,252,737
< 156,592
= 156,592
FH20 1,565,921 1,407,500 168,421
= 1,252,737
< 156,592
= 156,592
301 LBtEES 1,168,821 1,050,500 118,321
= 935,067
< 116,882
= 116,882
01 AIEEEFS(BREXTHY) 1,168,821 1,050,500 118,321
OIEFNSHTSA SIS (ESS0)
1,168,821,000& 1,168,821
= 935,067
< 116,882
= 116,882
403 MRS A=0lA 397,100 357,000 40,100
= 317,680
& 39,710
= 39,710
02 SI|2SOIUEHIZ2 A2 EAL 397,100 357,000 40,100
OIEFNSHFSXN KRNSO (EES
oF/Z=2l) 397, 100,0002 397,100
= 317,680
& 39,710
= 39,710
XEE SAXNE 2 NHASA 1,615,280 1,601,457 13,823
= 345,488
s 467,400
& 183,049
= 619,343
S|L=XAE 1,446,814 1,411,038 35,776
= 345,488
s 433,49%6
& 168,177
= 499,653
S|Y=NEMZE 10,020 9,780 240
201 et=3| 2,820 2,580 240
01 At 2,820 2,580 240
Oglg=AXdS 82 =2 S A
165,0002 *42] 660
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2A -3 - A(3) - MRAKY - BES Off ol Ofl Abon Hns2
OSAHI (3L =X LR43H)
9,0009x321+804! 2,160
202 O4H| 7,200 7,200
ENEE] 7,200 7,200
O3|L=X| P43
200,0002%301x 122 7,200
NEWNEEESYTE] 1,200 1,200
201 LB 1,200 1,200
01 Al22t2|H] 1,200 1,200
OXISAIBI2E oIXte AHHSIA L 20t
SOM HE 20,0002 *x302+23] 1,200
XISAIS SRS M 2 48,950 51,150 A2,200
201 LBH2AH 21,750 21,750 0
01 Al22t2|H] 21,750 21,750 0
OHESOIH 3lolg
100,0002%2021%33] 6,000
OAPEAR 3o
100,0004%1501%53] 7,500
OAPE 3o+
50,0002 %3321x53] 8,250
301 LBIEAS 1,200 1,200
TENENES] 1,200 1,200
O8oM g 2 YIS &4
60,0002 #501%43] 1,200
307 2I2t0lA 26,000 28,200 A2,200
04 QIZFBHAAIRIE X 23,000 23,000 0
O8O A22Ast TS
5,000,000 13 5,000
(OINE-ENEE 13,000,00024% 13| 13,000
OARBI=XI019] =5t S3
5,000,000 13 5,000
10 AFBISTAILHE 2 B X 3,000 3,000 0
OO MSA 23| 3,000,000 3,000
NEINE S = I ST= SR 44,700 44,700 0
[ 6,000
2 38,700
307 2I2t0lA 44,700 44,700 0
[ 6,000
2 38,700
IREENNEEEEEEIEES 44700 24700 0
OXISALS SEEOIH MEER Q12|
,725,00024+1Q1x 128 44,700
[ 6,000
2 38,700
SHXSABIEHEH 2 22,000 22,000 0
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= 6,600
- 15,400
201 LBt AY| 11,000 11,000 0
o 3,300
- 7,700
01 AFR22|d| 11,000 11,000 0
= AANSBEE N 23
e o oot e 11,000
= 3,300
- 7,700
301 LetBX= 11,000 11,000 0
= 3,300
- 7,700
02 A2 2G| 2(FSHS, K2HH) 11,000 11,000 0
SHXAASI EEE2IM X2
OSH XIS AL |l Kl 1 000,000 01 000
o 3,300
- 7,700
SEAt 2 AN 7,600 7,600 0
Fag 3,800
- 3,800
201 LBt AY| 3,600 3,600 0
Fag 1,800
- 1,800
01 AFR22|d| 3,600 3,600 0
OsE2E S 7o 2,960, 0002 2,960
Fag 1,480
- 1,480
St 1
OSEAIZ2IAF REH] 0. 00514201045 540
Fag 320
- 320
301 Let8XZ2 4,000 4,000 0
Fag 2,000
- 2,000
01 AFRIE & 25 2(Z2 D2 XTH) 4,000 4,000 0
SEARIZRIIAI XISid
OSEIAIZ 2| CHALRE X1 © 00,0000 4000
Fag 2,000
- 2,000
SH UEE SSAMHIA (S0 BAHEXAHIA) 108,557 108,557 0
Fag 76,000
- 32,557
201 LBt AY| 54,280 54,280 0
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SIZ=XIXIE |: & 2)
SA - BB BRI(3) - IRAY - BES ChE el
s 38,000
= 16,280
01 AFR2t2IH] 54,280 54,280 0
OSE Azl 28I(111S2)
54,280,000 54,280
s 38,000
= 16,280
301 LerEE S 54,277 54,217 0
s 38,000
= 16,277
01 AR 2EE 62 (2 REXZHE) 54,277 54,217 0
OSetAZ2l XI2I(111S2)
54,277,000 54,277
s 38,000
= 16,277
SETAEIZIE|AL 124H] 71,544 67,752 3,792
= 35,772
= 35,772
101 el24H| 71,544 67,752 3,792
= 35,772
= 35,772
01 2= 35,4% 0 35,49%
OSEAIZ2IAH AR D HISPH) 35,49%6
001=22(2IIM9B) 26,428,0002% 19! 26,428
= 13,214
= 13,214
=inel 2,960, 34024% 10! 2,91
= 1,480
= 1,481
0SA R (AT )
105,710&%1Q1x123 1,269
= 635
= 634
0IE4g 110,0002%1Q1x12& 1,320
= 660
= 660
0H ez Al| 140,000 %1 Q1% 122 1,680
= 840
= 840
0AZExH| 153, 1202 %1Q1x 122 1,838
= 919
= 919
03 SRH(RIHA) 2224 36,048 32,256 3,792
OSE At ZeIAHSRE) 36,048
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